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log,(1-z)=4 & 1-z=2' & z=1-2'=-15
5590 =26 <« log26=5-3cz & 3z=5-log26 < x=3(5-1log26)~0.99

4 =10 & Ine®t=mh10 & £=mn10 & z=%m10~3.07

logz + log(z + 1) = log 12 P loglz(z+1)] =logl2 & z(z+1)=12 &
2?4+2-12=0 & (z+4)(x—-3)=0 = =z =3or—4. Becauselogz and log(z + 1)
are undefined at z = —4, it follows that = 3 is the only solution.

2e® 4 2z =8 & e¥(2?+2x-8)=0 <& 22+ 2z—8=0 (sincee® >0 for
allz) & (z+4)(z-2)=0 & =z=2,—4

-2z 31og0.63
—2z/3 = 0. l — . = - ———— R U,
5 063 © —Tlog5=1log0.63 < Flogs~ ~ 430618
520+l = 34z-1 & (2z+1)logh = (4z — 1)log3 < 2zlog5 + logh = 4xlog3 — log 3
log3 +log5
& z(2logh —4log3) = —log3 —logh & &=-—7—7"—— ~2.303600

" 4log3 —2logb



